Chapter 3
EARNINGS

Time to put our accounting hat on!

Following our analysis of company cash flows, it is time to consider the issue of how a
company creates wealth. In this chapter, we are going to study the income statement to
show how the various cycles of a company create wealth.

Section 3.1
ADDITIONS TO WEALTH AND DEDUCTIONS TO WEALTH

What would your spontaneous answer be to the following questions?

e Does purchasing an apartment make you richer or poorer?
Would your answer change if you were to buy the apartment on credit?

There can be no doubt as to the correct answer. Provided that you pay the market price
for the apartment, your wealth is not affected whether or not you buy it on credit. Our
experience as university lecturers has shown us that students often confuse cash and
wealth.

Cash and wealth are two of the fundamental concepts of corporate finance. It is vital
to be able to juggle them around and thus be able to differentiate between them
confidently.

Consequently, we advise readers to train their minds by analysing the impact of all
transactions in terms of cash flows and wealth impacts.

For instance, when you buy an apartment, you become neither richer, nor poorer, but
your cash decreases. Arranging aloan makes you no richer or poorer than you were before
(you owe the money), but your cash hasincreased. If afire destroys your house and it was
not insured, you are worse off, but your cash position has not changed, since you have not
spent any money.

Raising debt is tantamount to increasing your financial resources and commitments
at the sametime. Asaresult, it has no impact on your net worth. Buying an apartment for
cash results in a change in your assets (reduction in cash, increase in real estate assets)
without any change in net worth. The possible examples are endless. Spending money
doesnot necessarily makeyou poorer. Likewise, receiving money doesnot necessarily
make you richer.
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FUNDAMENTAL CONCEPTS IN FINANCIAL ANALYSIS

Thejob of listing all the itemsthat positively or negatively affect acompany’s wealth
is performed by the income statement,* which shows all the additions to wealth (rev-
enues) and al the deductions to wealth (charges or expenses or costs). The fundamental
aim of all businessesisto increase wealth. Additionsto wealth cannot be achieved without
some deductions to wealth. In sum, earnings represent the difference between additions
and deductions to wealth.

Revenues Gross additions to wealth
— Charges — gross deductions to wealth
= Earnings = net additions to wealth (deductions to)

Earnings represent the difference between revenues and charges, leading to a change
in net worth during a given period. Earnings are positive when wealth is created or
negative when wealth is destroyed.

Since the rationale behind the income statement is not the same as for a cash flow state-
ment, some cash flows do not appear on the income statement (those that neither generate
nor destroy wealth). Likewise, some revenues and charges are not shown on the cash flow
statement (because they have no impact on the company’s cash position).

1/ THE DISTINCTION BETWEEN OPERATING CHARGES AND FIXED ASSETS

Although we are easily able to define investment from a cash flow perspective, we recog-
nise that our approach goes against the grain of the traditional presentation, especialy as
far asthose familiar with accounting are concerned:

e Whatever isconsumed as part of the operating cycle to create something new belongs
to the operating cycle. Without wishing to philosophise, we note that the act of
creation always entails some form of destruction.

e Whatever is used without being destroyed directly, thus retaining its value, belongs
to the investment cycle. This represents an immutable asset or, in accounting terms,
afixed asset (a“noncurrent asset” in IFRS terminol ogy).

For instance, to make bread, a baker uses flour, salt and water, all of which form part
of the end product. The process also entails labour, which has a value only insofar as it
transforms the raw material into the end product. At the same time, the baker also needs a
bread oven, which is absolutely essential for the production process, but is not destroyed
by it. Though this oven may experience wear and tear it will be used many times over.

Thisis the mgjor distinction that can be drawn between operating charges and fixed
assets. It may look deceptively straightforward, but in practice is no clearer than the
distinction between investment and operating outlays. For instance, does an advertising
campaign represent a charge linked solely to one period with no impact on any other? Or
doesit represent the creation of an asset (e.g. a brand)?
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2/ EARNINGS AND THE OPERATING CYCLE

The operating cycle forms the basis of the company’s wealth. It consists of both:

e additions to wealth (products and services sold, i.e. products and services whose
worth is recognised in the market);

e deductions to wealth (consumption of raw materials or goods for resae, use of
labour, use of external services, such as transportation, taxes and other duties).

The very essence of abusinessisto increase wealth by means of its operating cycle.

Additions to wealth Operating revenues
Deductions to wealth — Cash operating charges
= Earnings before interest, taxes, depreciation and
amortisation (EBITDA)

Put another way, the result of the operating cycle is the balance of operating revenues
and cash operating charges incurred to obtain these revenues. We will refer to it as
gross operating profit or EBITDA (earnings before interest, taxes, depreciation and
amortisation).

It may be described as gross insofar as it covers just the operating cycle and is calcu-
lated before non-cash expenses such as depreciation and amortisation, and before interest
and taxes.

3/EARNINGS AND THE INVESTING CYCLE

(a) Principles

Investing activities do not appear directly on the income statement. In a wealth-oriented
approach, an investment represents a use of funds that retains some value.

To invest is to forgo liquid funds: an asset is purchased but no wealth is destroyed.
As a result, investments never appear directly on the income statement.

This said, the value of investments may change during afinancia year:

it may decreaseif they suffer wear and tear or become obsolete;

it may increase if the market value of certain assets rises. Even so, by virtue of the
principle of prudence, increases in value are recorded only if realised through the
disposal of the asset.

(b) Accounting for decrease in the value of fixed assets

The decrease in value of afixed asset due to its use by the company is accounted for by
means of depreciation and amortisation.?
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Impairment losses or write-downs on fixed assets recognise the lossin value of an
asset not related to its day-to-day use, i.e. the unforeseen diminution in the value of:

e anintangible asset (goodwill, patents, etc.);
e atangible asset (property, plant, and equipment);
an investment in asubsidiary.

Depreciation and amortisation on fixed assets are so-called “non-cash” charges
insofar as they merely reflect arbitrary accounting assessments of the loss in value.

Aswe shall see, there are other types of non-cash charges, such as impairment losses on
fixed assets, write-downs on current assets (which are included in operating charges) and
provisions.

4/ THE COMPANY’S OPERATING PROFIT

From EBITDA, whichislinked to the operating cycle, we deduct non-cash charges, which
comprise depreciation and amortisation and impairment losses or write-downs on fixed
assets.

This gives us operating income or operating profit or EBIT (Earnings Before Interest
and Taxes), which reflects the increase in wealth generated by the company’s industrial
and commercial activities.

Operating profit or EBIT represents the earnings generated by investment and
operating cycles for a given period.

The term “operating” contrasts with the term “financial”, reflecting the distinction
between the real world and the realms of finance. Indeed, operating income is the product
of the company’s industrial and commercial activities before its financing operations are
taken into account. Operating profit or EBIT may also be called operating income, trading
profit, or operating result.

5/ EARNINGS AND THE FINANCING CYCLE

(a) Debt capital

Repayments of borrowings do not constitute costs but, as their name suggests, merely
repayments.

Just as common sense tells us that securing a loan does not increase wealth, neither
does repaying a borrowing represent a charge.

The income statement shows only charges related to borrowings. It never shows the
repayments of borrowings, which are deducted from the debt recorded on the balance
sheet.

We emphasise this point because our experience tells us that many mistakes are made in
this area.



Chapter 3 EARNINGS

Conversely, we should note that the interest payments made on borrowings lead to a
decrease in the wealth of the company and thus represent an expense for the company. As
aresult, they are shown on the income statement.

The difference between financial income and financial expenseis called net financial
expense/(income).

The difference between operating profit and net financial expense is called profit
before tax and nonrecurring items.®

(b) Shareholders’ equity

From a cash flow standpoint, shareholders’ equity is formed through issuance of shares
minus outflowsin the form of dividends or share buybacks. These cash inflows giveriseto
ownership rights over the company. Dividends are a way of apportioning earnings voted
on at the general meeting of the shareholders once the company’s accounts have been
approved. For technical, tax and legal reasons, most of the time they are not shown on the
income statement, except in the United Kingdom.

“Retained earnings’ is the term frequently used to designate the portion of earnings
not distributed as a dividend. This said, if we take a step back, we see that dividends and
financial interest are based on the same principle of distributing the wealth created by the
company.* Likewise, income tax represents earnings paid to the State in spite of the fact
that it does not contribute any funds to the company.

6/ RECURRENT AND NONRECURRENT ITEMS: EXTRAORDINARY AND
EXCEPTIONAL ITEMS, DISCONTINUED OPERATIONS

We have now considered all the operations of a business that may be all ocated to the oper-
ating, investing and financing cycles of acompany. Thissaid, it isnot hard to imagine the
difficulties involved in classifying the financial consequences of certain extraordinary
events, such as losses incurred as a result of earthquakes, other natural disasters or the
expropriation of assets by a government.

They are not expected to occur frequently or regularly and are beyond the control
of acompany’s management. Hence the idea of creating a separate catch-all category for
precisely such extraordinary items.

Among the many different types of exceptional events, we will briefly focus on asset
disposals. Investing forms an integral part of the industrial and commercial activities of
businesses. But it would be foolhardy to believe that investment is aone-way process. The
best-laid plans may fail, while others may lead down a strategic impasse.

Put another way, disinvesting is also a key part of an entrepreneur’s activities. It
generates exceptional “asset disposal” inflows on the cash flow statement and capi-
tal gains and losses on the income statement, which may appear under exceptional
items.

Lastly when a company disposes of some segments of its activity or entire sections
of a business, the corresponding gains or losses are recorded under discontinued
operations.
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FUNDAMENTAL CONCEPTS IN FINANCIAL ANALYSIS

One of the main puzzles for the financial analyst is to identify whether an extraor-
dinary or exceptional item can be described as recurrent or nonrecurrent. If it is
recurrent, it will occur again and again in the future. If it is not recurrent, it is simply a
one-off item.

Without any doubt extraordinary items and results for discontinued operations are
nonrecurrent items.

Exceptional items are much more tricky to analyse. In large groups, closure
of plants, provisions for restructuring, etc. tend to happen every year in different
divisions or countries. In some sectors, exceptional items are an intrinsic part of the
business. A car rental company renews its fleet of cars every nine months and reg-
ularly registers capital gains. Exceptional items should then be analysed as recurrent
items and as such be included in the operating profit. For smaller companies, excep-
tional items tend to be one-off items and as such should be seen as nonrecurrent
items.

Depending on accounting principles, firms are alowed to include more or fewer
itemsin the exceptional/extraordinary itemsline. The International Accounting Standards
Board (IASB) has decided to include extraordinary and exceptionals items within oper-
ating without identifying them as such. Nevertheless, the real need for such a distinction
has led alarge number of companies reporting in IFRS to present a “recurring operating
profit” (or similar term) before the operating profit line.

By definition, it is easier to analyse and forecast profit before tax and nonrecurrent
items than net income or net profit, which is calculated after the impact of nonrecurrent
items and tax.

Section 3.2
DIFFERENT INCOME STATEMENT FORMATS

Two main formats of income statement are frequently used, which differ in the way they
present revenues and expenses related to the operating and investment cycles. They may
be presented either:

e by function,® i.e. according to the way revenues and charges are used in the
operating and investing cycle. This shows the cost of goods sold, selling and
marketing costs, research and development costs and general and administrative
costs; or

e Dbynature®i.e by type of expenditure or revenue which shows the change in inven-
tories of finished goods and in work in progress (closing minus opening inventory),
purchases of and changes in inventories (closing minus opening inventory) of goods
for resale and raw materials, other external charges, personnel expenses, taxes and
other duties, depreciation and amortisation.

Thankfully, operating profit works out to be the same, irrespective of the format used!

The two different income statement formats can be summarised by the following
diagram:
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Operating cycle

BY NATURE

Net sales

+ Changes in inventories of
finished goods and work in
progress

= Production

— Purchase of raw materials

+ Change in inventories of raw
materials

— Services (other operating
expenses)

— Personnel expenses

— Taxes other than corporate
income taxes

— Write-downs and write-offs
on inventories and trade
receivables

= EBITDA

Investment cycle

Debt financing cycle

Nonrecurring items
and tax effects

— Depreciation, amortisation
and impairment losses on
fixed assets

BY FUNCTION

Net sales

— Cost of sales

— Selling and
marketing costs

— General and administrative
costs

— Research and
development costs

= EBIT (Operating profit)

— Financial expense net of
financial income

= Profit before tax and
nonrecurrent items

+/—Nonrecurring items
(extraordinary items,
result from discontinued
operations, some
exceptional items)

— Corporate income tax

= Net income (net profit)

— Dividends

= Retained earnings

The by-nature presentation predominates to a great extent in Italy, Spain and Belgium. In
the US, the by-function presentation is used almost to the exclusion of any other formats.”

Presentation | Brazil | China | France | Germany | India | Italy | )Japan | Morocco| Russia | Switzer-| UK us
land

By nature 7% 13% 26% 23% 83% | 67% 6% 100% 17% 30% 37% 7%

By function 69% 84% 55% 73% 7% | 27% | 67% 0% 47% 67% 53% | 80%

Other 24% 3% 19% 3% 10% 7% | 16% 0% 37% 3% 10% | 13%

Source: 2007 annual reports from the top 30 listed non financial groups in each country.

Whereas in the past France, Germany, Switzerland and the UK tended to use sys
tematically the by-nature or by-function format, the current situation is less clear-cut.
Moreover, a new presentation is making some headway; it is mainly a by-function
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FUNDAMENTAL CONCEPTS IN FINANCIAL ANALYSIS

format but depreciation and amortisation is not included in the cost of goods sold, in
selling and marketing costs, or research development costs, but is isolated on a separate
line®

1/ THE BY-FUNCTION INCOME STATEMENT FORMAT

This presentation is based on a management accounting approach, in which costs are
allocated to the main corporate functions:

Function | Corresponding cost

Production Cost of sales

Commercial Selling and marketing costs
Research and development Research and development costs
Administration General and administrative costs

Asaresult, personnel expenseisallocated to each of these four categories (or three where
selling, general and administrative costs are pooled into a single category) depending on
whether an individual employee works in production, sales, research or administration.
Likewise, depreciation expense for a tangible fixed asset is allocated to production if it
relates to production machinery, to selling and marketing costsif it concernsacar used by
the sales team, to research and development costs if it relates to laboratory equipment, or
to general and administrative costs in the case of the accounting department’s computers,
for example.

The underlying principleis very smple indeed. Thisformat clearly shows that oper-
ating profit is the difference between sales and the cost of salesirrespective of their nature
(i.e. production, sales, research and development, administration).

On the other hand, it does not differentiate between the operating and investment pro-
cesses since depreciation and amortisation is not shown directly on the income statement
(it is split up between the four main corporate functions), obliging analysts to track down
the information in the cash flow statement or in the notes to the accounts.

2/ THE BY-NATURE INCOME STATEMENT FORMAT

This is the traditional presentation of income statements in many continental European
countries, although some groups are dropping it in favour of the by-function format in
their consolidated accounts.

The by-nature format is simple to apply, even for small companies, because no
allocation of expensesisrequired. It offers amore detailed breakdown of costs.

Naturally, asin the previous approach, operating profit is still the difference between
sales and the cost of sales.

In this format, charges are recognised as they are incurred rather than when the cor-
responding items are used. Showing on the income statement all purchases made and all
invoices sent to customers during the same period would not be comparing like with like.

A business may transfer to the inventory some of the purchases made during a given
year. Thetransfer of these purchasesto the inventory does not destroy any wealth. Instead,
it represents the formation of an asset, abeit probably a temporary one, but one that has
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real value at a given point in time. Secondly, some of the end products produced by the
company may not be sold during the year and yet the corresponding charges appear on
the income statement.

To compare like with like, it is necessary to:

e €liminatechangesininventoriesof raw materials and goodsfor resale from purchases
to get raw materials and goods for resale used rather than simply purchased,;

e add changesin the inventory of finished products and work in progress back to sales.
As aresult, the income statement shows production rather than just sales.

The by-nature format shows the amount spent on production for the period and not the
total expenses under the accruals convention. It hasthe logical disadvantage that it seems
to imply that changes in inventory are a revenue or an expense in their own right, which
they are not. They are only an adjustment to purchases to obtain relevant costs.

Exercise 1 will help readers get to grips with the concept of changes in inventories of
finished goods and work in progress.

To sum up, there are two different income statement formats:

e the by-nature format which is focused on production in which all the charges
incurred during a given period are recorded. This amount then needs to be adjusted
(for changesin inventories) so that it may be compared with products sold during the
period;

e theby-function format which reasons directly in terms of the cost price of goods or
services sold.

Either way, it is worth noting that EBITDA depends heavily on the inventory valuation
methods used by the business. This emphasises the appeal of the by-nature format, which
shows inventory changes on a separate line of the income statement and thus clearly
indicates their order of magnitude.

Like operating cash flow, EBITDA isnot influenced by the valuation methods applied
to tangible and intangible fixed assets or the taxation system.

A distinction needs to be made between cash and wealth. Spending money does not
necessarily make you poorer and neither does receiving money necessarily make you
any richer. Additions to wealth or deductions to wealth by a company is measured on
the income statement. It is the difference between revenues and charges that increases a
company’s net worth during a given period.

From an accounting standpoint, operating charges reflect what is used up immediately in
the operating cycle and somehow forms part of the end product. On the contrary, fixed
assets are not destroyed directly during the production process and retain some of their
value.

EBITDA (earnings before interest, taxes, depreciation and amortisation) shows the profit
generated by the operating cycle (operating revenues — operating charges).

As part of the operating cycle, a business naturally builds up inventories, which are
assets. These represent deferred charges, the impact of which needs to be eliminated in
the calculation of EBITDA. In the by-nature format, this adjustment is made to operating
revenues (by adding back changes in finished goods inventories) and to operating
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charges (by subtracting changes in inventories of raw materials and goods for resale from
purchases). The by-function income statement shows merely sales and the cost of goods
sold requiring no adjustment.

Capital expenditures never appear directly on the income statement, but they lead to
an increase in the amount of fixed assets held. This said, an accounting assessment of
impairment in the value of these investments leads to non-cash expenses, which are
shown on the income statement (depreciation, amortisation and impairment losses on
fixed assets).

EBIT (Earnings Before Interest and Taxes) shows the profit generated by the operating and
investment cycles. In concrete terms, it represents the profit generated by the industrial
and commercial activities of a business. It is allocated to:

e financial expense: only charges related to borrowings appear on the income state-
ment, since capital repayments do not represent a destruction of wealth;

e corporate income tax;

e net income that is distributed to shareholders as dividends or transferred to the
reserves (as retained earnings).

QUESTIONS 1/A company raises €500m in shareholders’ equity for an R&D project. Has it become
richer or poorer? By how much? What is your answer if the company spends half of the
funds in the first two years, and the project does not produce results? In the third year,
the company uses the remaining funds to acquire a competitor that is overvalued by
25%. But thanks to synergies with this new subsidiary, it is able to improve its earnings
by €75m. Has it become richer or poorer? By how much?

2/What are the accounting items corresponding to additions to wealth for shareholders,
lenders and the State?

3/In concrete terms, based on the diagram on page 35, by how much does a company
create wealth over a given financial period? Why?

4/Comment on the following two statements: “This year, we’re going to have go into debt
to cover our losses” and “We’ll be able to buy out our main competitor, thanks to the
profits we made this year”.

5/In 2005, a company’s free cash flow turns negative. Has the company created or
destroyed wealth?

6/Does EBITDA always flow directly into a company’s bank account?

7/1s it correct to say that a company’s wealth is increased each year by the amount of
EBITDA?

8/According to the terminology used in Chapter 2, is depreciation a cash expense or a
non-cash charge? What is the difference between these two concepts?
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9/Analyse the similarities and the differences between cash and wealth, looking at, for
example, investment in real estate and investment in research.

10/Will repayment of a loan always be recorded on the income statement? Will it always
be recorded under a cash item?

11/Does the inflation-related increase in the nominal value of an asset appear on the
income statement?

12/Why is the increase in inventories of raw materials deducted from purchases in the
by-nature income statement format?

13/Why is change in finished goods inventories recorded under income in the by-nature
income statement format?

14/Should the sale of a fixed asset be classified as part of the “ordinary course of
business” of a company? How is it recorded on the income statement? Why under this
heading?

15/Provide several examples illustrating the difference between cash receipts and rev-
enues, cash expenses and charges.

16/ls there a substantial difference between the income statement and the cash flow
statement?

17/What is a non-cash expense? What is a deferred charge? Describe their similarities and
the differences between them.

1/ Starjo AB

You are asked by a Swedish company that assembles computers to draw up a
by-nature and by-function income statement for year n. You are provided with the
following information:

Retail price of a PC: €1500.

Cost of various components:

Parts Price Opening inventory Closing inventory
Case 50 5 13
Mother board 200 8 2
Processor 300 4 11
Memory 100 6 4
Graphic card 50 1 13
Hard disk 150 5 10
Screen 200 3 3
DVD combo 50 7 19
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Over the financial period, the company paid out €60,000 in salaries and social security
contributions of 50% of that amount. The company produced 240 PCs. Closing stock of
finished products was 27 units and opening stock 14 units.

At the end of the financial period, the manager of the company sells the premises that
he had bought for €200,000 three years ago (which was depreciated over 40 years)
for €230,000, rents other premises for €1000 per month, and pays off a €12,000 loan
on which the company was paying interest at 5%. What impact do these transactions
have on EBITDA, operating profits and net incomes? Tax is levied at a rate of 35%.

Over the course of the financial period, by how much did the company/the lenders/the
company manager (who owns 50% of the shares) get richer/poorer?

2/ Ellingham plc

Draw up the income statement for 2005 in both the by-nature and by-function formats.
Depreciation and amortisation come to €6m.

3/ Mumbai Oaks

Consider an Indian business that sells oak barrels to vineyards. At the start of the
year, its inventory of finished products was zero. It sold 800 of the 9oo barrels it
had produced, leaving the closing inventory at 100 barrels. Each barrel sells for INR
10,000. To produce one barrel, the company spends INR 5000 on oak purchases and
incurs INR 2000 in labour costs. In addition, the sales force generates costs of INR
450,000 per year and the fully outsourced administrative department incurs costs
of INR 400,000 p.a. Annual depreciation expense related to the production facilities
comes to INR 300,000. The opening inventory of raw materials was INR 4000 and
the closing inventory INR 500,000. In sum, the business spent INR 4,600,000 on raw
materials.

Produce the by-nature income statement.

Assuming that depreciation breaks down into INR 200,000 for the production machin-
ery, INR 70,000 for the sales facilities and INR 30,000 for the administrative facilities,
produce the by-function income statement. Are you surprised that both formats give
the same EBIT? Why? What do you think about Mumbai Oaks’ EBIT margin?

4/ Singapore Kite Surf Magazine

You want to launch the first kite surf monthly magazine in Singapore. The economics
are the following:

o  For each issue you need to pay some friends for the articles $2000 (paid each
month including social charges)

o the magazine will be sold only by subscription, you know the universe of buyers
and you believe you can sell 1500 subscriptions (no additional sales is expected
in the short term)

o fabrication and delivery cost are $2 per magazine
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o You believe you can sell the yearly subscription $50
©  You should benefit from income tax exemption for the first 2 years of operations

You launch your project in September. You close your accounts in December. What
will your income statement and cash-flow statement be for your first two financial
years?

How can you finance your project?

Questions

1/Neither. Zero, poorer by €250m. Richer by €25m: 75 — 250 x [ 25%/(1 + 25%) ]

2/Net income, financial expenses, corporate income tax.

3/EBIT (Operating profit) + nonrecurring items — corporate income tax. The wealth cre-
ated is the wealth to be divided up between lenders (financial expenses), the State
(corporate income tax) and shareholders (the balance).

4/Confusion between additions to and deductions from wealth (which is an account-
ing issue) and cash: in the former, new borrowings do not add wealth to cover the
losses; in the latter, profit is not the means used to finance an investment as it does
not translate 100% in cash.

5/There is nothing that tells us whether wealth has been destroyed or created as we do
not know what net income for 2005 is.

6/No, because income and charges may not necessarily correspond to immediate cash
receipts or expenses.

7/No, because a company takes on costs that are deductible from EBITDA to form net
income-depreciation, financial costs, etc.

8/Itis a non-cash charge, not a cash expense, i.e., a cost that is recorded, but which does
not have to be cashed-out.

9/From a cash standpoint, an investment in real estate is a cash expense which will only
generate income on the day it is sold. From a wealth standpoint, real estate is an attrac-
tive asset. For investments in R&D, returns must be quicker from a cash standpoint. In
terms of wealth, however, the disposal value of R&D is nil.

10/No, only financial interest is recorded in the income statement. Yes, because debts are
repaid in cash.

11/No, because of the prudence principle.

12/In order to obtain a figure for purchases consumed in the business in the current year.

13/In order to counterbalance charges recorded in the income statement which should not
dffect this year’ s net income as they are related to unsold products.

14/ No, except if the company is in the business of regularly selling fixed assets, like a car
rental company, for example. Capital gains or losses on the sale of a fixed asset will be
recorded as exceptional gains/losses.

15/Sales (revenues) and customer payments (cash receipts). Depreciation and amortis-
ation (charges without cash expenses). Purchase of a machine (cash expense but not
a charge).

16/Yes. See flow chart in Chapter 5.

ANSWERS
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17/A non-cash expense is a charge which does not reflect a specific expense, but an
accounting valuation of how much wealth has been destroyed. A deferred charge is
one that is carried over to the next financial period. Common point: both are based on
an accounting decision, resulting in a dilemma for the financial manager: have they
been properly measured?

9 An Excel Exercises®
version of the
solutionsis 1/Starjo AB
available on the Production sold 340,500 | Sales 340,500
website.
Change in finished goods and in-progress 19,175
inventory

Purchases of raw materials and goods for resale 267,050

Change in raw materials and goods for resale 3,050

Personnel costs, including payroll taxes 90,000

Other purchases and external charges, including o

lease payments

EBITDA 5,675

Depreciation and amortisation 5,000 | Costofgoodssold 339,825
EBIT 675
Net interest and other 600
financial charges
Nonrecurring items 45,000
Tax 15,776
Net earnings 29,299

Sale of premises: capital gain of €45,000 shown as a nonrecurring item gain.

Rental of premises: extra €12,000 in operating charges (recorded under “Other pur-
chases and external charges”), and disappearance of depreciation and amortisation
the following year.

Repayment of the loan: disappearance of €600 in interest expenses the following
financial year.

Over the course of the financial year, and after booking these transactions, the company
became richer by €29,299 (after tax), the creditors by €600 and the company manager
by €14,649.

2/Ellingham plc: see Chapter 5.
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3/Mumbai Oaks

By-nature income statement:
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Net sales 800 x INR 10,000 = 8,000,000
+ Closing inventory of finished 100 x (5,000 + 7,000) = + 700,000 |+ Changes in
products inventories
— Opening inventory and work in —o0 of finished
progress goods and
work in
progress
= Production for the year 8,700,000
—  Purchases of raw materials and —4,600,000
goods for resale —400,000
— Opening inventory of raw materials +500,000 |=Raw
and goods for resale materials
and goods
+ Closing inventory of raw for resale
materials and goods for resale consumed
= Gross profit on raw materials and 4,200,000
goods for resale used
— Personnel expenses 900 x INR 2000 + INR 450,000 = — 2,250,000
— Services (other operating expenses) —400,000
— Depreciation and amortisation — 300,000
= EBIT (operating profit) 1,250,000

By-function income statement:

Sales (products)

Cost of sales

Selling and marketing costs
General and administrative costs

800 units x 10,000 = INR 8,000,000

200,000 + 800 units x 7000 = INR 5,800,000
70,000 + 450,000 = INR 520,000
30,000 + 400,000 = INR 430,000

EBIT (operating profit)

INR 1,250,000

This corresponds exactly to the gross margin per unit of INR 3000 multiplied by the 8oo units sold minus fixed
costs of INR 450,000 (sales force), INR 400,000 (administration) and INR 300,000 (depreciation).

As by-nature and by-function formats differ only by presentation and not substance it is quite logical that the
different formats do not lead to a difference in reported EBIT!

Achieving an EBIT of INR 1,250,000 out of a turnover of INR 8,000,000 is a very nice margin (15.6% ). Most
industrial groups do not achieve this kind of margin. This may be due to the fact that in most small companies,
owners prefer to be paid a low wage and receive higher dividends which are generally taxed at a lower rate

than ordinary salaries.
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